This is a homework/test. I want you to play computer and determine what will be displayed.  If your submission has problems then this can be corrected and resubmitted.
Problem #1:
start
   firstNum = 100
   secondNum = 20
   thirdNum = 10
   wkTot = 0
   ct = 0
   do while ct < 4
      if secondNum < 20
         wkTot = (firstNum - secondNum) / 2
      else
         wkTot = (firstNum + secondNum) / 2
      end if
      if wkTot > 50
         firstNum = firstNum - 10 
         secondNum = secondNum / 2
         thirdNum = thirdNum + 10
      end if
      ct = ct + 1
   end do while
   display wkTot
   display firstNum + secondNum + thirdNum
end   
Problem #2:
start
   firstNum = 100
   secondNum = 20
   thirdNum = 10
   wkTot = 0
   ct = 0
   do while ct < 4
      if secondNum < 20
         wkTot = (firstNum - secondNum) / 2
      else
         wkTot = (firstNum + secondNum) / 2
      end if
      if wkTot > 50
         firstNum = firstNum - 10 
         secondNum = secondNum / 2
         thirdNum = thirdNum + 10
      else
         firstNum = firstNum + 10
         secondNum = secondNum + 20
      end if
      ct = ct + 1
   end do while
   display wkTot
   display firstNum + secondNum + thirdNum
end 
Problem #3:
start
  var1 = 10
  var2 = 20
  wksum = 0
  rslt = 0
  do while var2 < 30
     wksum = var1 + var2
     if wksum > 30
        var1 = var1 - 2
        var2 = var2 + 1
     else
        var1 = var1 - 1
        var2 = var2 + 3
     end if
  end while loop
  rslt = var1 + var2
  display rslt
end  
Problem #4:
start
  var1 = 10
  var2 = 20
  wksum = 0
  rslt = 0
  do until var2 > 30
     wksum = var1 + var2
     if wksum > 30
        var1 = var1 - 2
        var2 = var2 + 1
     else
        var1 = var1 - 1
        var2 = var2 + 3
     end if
  end until loop
  rslt = var1 + var2
  display rslt
end  
Problem #5:
start
  var1 = 10
  var2 = 20
  wksum = 0
  rslt = 0
  do until var2 >= 30
     wksum = var1 + var2
     if wksum > 30
        var1 = var1 - 2
        var2 = var2 + 1
     else
        var1 = var1 - 1
        var2 = var2 + 3
     end if
  end until loop
  rslt = var1 + var2
  display rslt
end
Problem #6:  Note: When you execute a procedure or module like calculate(), you branch out to the procedure or module and execute and then return and continue executing the main code.
start
  var1 = 10
  var2 = 20
  wksum = 0
  rslt = 0
  do while var2 < 30
     calculate()
  end while loop
  rslt = var1 + var2
  display rslt
end
calculate()
     wksum = var1 + var2
     if wksum > 30
        var1 = var1 - 2
        var2 = var2 + 1
     else
        var1 = var1 - 1
        var2 = var2 + 3
     end if
return
Problem #7:
start
   amt1 = 1
   amt2 = 2
   ans = 0
   do while  amt2 < 15
      if amt1 > 10
         amt1 = amt1 + 1
         amt2 = amt2 + 1
      else
         amt1 = amt1 + 5
         amt2 = amt2 + 5
      end if
  end while loop
  ans = amt1 + amt2 
  display ans
end 
Inventory File where each record is invenRecord: used in the next problems.
	itemNo
	onHand
	onOrder
	reOrdPt

	11111
	20
	40
	50

	12121
	10
	25
	25

	23456
	30
	0
	20

	34567
	25
	15
	50

	45678
	20
	30
	50

	EOF
	
	
	


Problem #8: Show the output that would be generated if this pseudocde was executed using the data shown.  Note that I want to see the output fro each of the records.
start
   read invenRecord
   do while not endOfFile
      totInven = onHand + onOrder
      if totInven > reOrdPt
           toOrder = 0
      else
           toOrder = (reOrdPt - (onHand + onOrder)) + 100
      end if
      display toOrder
      read invenRecord
   end do while loop
stop program
Program 9:
start
   read invenRecord
   do while not endOfFile
      calcToOrder()
      display toOrder
      read invenRecord
   end do while loop
stop program
calcToOrder()
      totInven = onHand + onOrder
      if totInven > reOrdPt
           toOrder = 0
      else
           toOrder = (reOrdPt - (onHand + onOrder)) * 1.5
      end if
return
Problem #10:
start
   read invenRecord
   do while not endOfFile
      check()
      read invenRecord
   end do while loop
stop program
check()
   if onhand > onorder
       display onHand
   else
       totInven = onHand + onOrder
       if totInven > reOrdPt
           display totInven
       else
           display message “need to check”
       end if
   end if
return
